| 2 | 3 4 S | 6 | 7 | 8
REV, DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE YCH 03/31/11° o
NOTES:
T T 1. METAL HOOD MATERIAL: Znic alloy
T— #4.00 2. PART NUMBER CODE:
) DS1047-01 — 09 X X
| — 3 | —l—_ .
| I | Facking type
- 1: Mix packing
2l - - 2: Separation packing
=+ <@
=+ o M #5.00 | Cover Material
! ) ! M: Metal{Znic alloy)
- Pasitions
— — LU | 1 04: 9pin
L ¥
| 24.95 |
31.80
47.00
28,1 4.0
oF 250
#7.0
#9.0
B
f 5
Z =
—|_/’//f
BOM LIST
ITEM | PART NAME 'ty NOTES
1 |SCREW 3 |M3
2 |UP METAL HOGD 1 |Znic alloy
5 |LONG BOLT 2 _|UNC 4-40 GENERAL TOLERANCE| ANGLE TOLERANCE [PROJECTION | @€ [TTLE]  p_sUB Spin Metal Gover
4 |\DOWN METAL HOOD| 1 |Znic alloy X +0.60 X, +5 UNITS mm 90" type
5 |SR 4 X +0.38 X £ SHEET SIZE At | SERIES | DS1047—01 SERIES
& |NUT z M3 XX £0.25 XX x2
GRAIVG TPE [COSTONER All (BNnnNnectors
SCALE 1:1 |SHEET [ 1 OF 1 www.all tors.eu | infoDall tors.eu
DRAWING NO C-D51047-01-09%XX—4A Tel. +49 (0)711 / 358 110 20 | Fax +49 (0)711 ! 358 110 25
| 5 | 3 4 [ 5 B | 7 ' 8




| 2 | 3 | 4 ) | 6 | 7 | 8

REV, DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE YCH 03/31/11° ~
NOTES:
T - - 1. METAL HOOD MATERIAL: Znic alloy
. 54.00 2, PART NUMBER CODE:
I ————— DS1047-01 — 15 X X
: _ ) : T—F’Gcking type
———} NS 1: Mix packing
= 2: Separation packing
8l o
I 2 e #5.00 | Cover Mcnter'icnl
5 B | | ———— [ M: Metal{Znic allay)
b - ] Pasiticns
d | 1 15: 15pin
P4 |
! 33.32 ‘
40.00
56.40
65.4
aF
— ]
L] ,
,’/,
BOM LIST
ITEM | FART NAME Oty NOTES
1 |SCREW 3 |M3
2 |UP METAL HOCD 1 |Znic alloy
3 |LONG BOLT 2 |UNC 4—40 GENERAL TOLERANCE| ANGLE TOLERANCE [PROJECTION | @€ | TITLE | D—SUB 15pin Mstal Cover
4 |DOWN METAL HOOD| 1 |Znic allay X +0.60 X, +5° UNITS mm 90" type
5 |SR 4 X +0.38 X £ SHEET SIZE At | SERIES | DS1047—01 SERIES
& [NUT % (M3 XX £0.25 XX x2
GRAVING TYPE [COSTONER All (ONnnectors
SCALE 1:1 |SHEET [ 1 OF 1 www.all tors.eu | infoDall tors.eu
DRAWING NO C-DS1047-01—15%X—4A Tel. +49 (0)711 / 358 110 20 | Fax +49 (0)711 ! 358 110 25
l 2 ' 3 ' 4 | 5 B l 7 l 8




| 2 3 | 4 ) | 6 | 7 | 8
REV, DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE YCH 03/31/11° A~
NOTES:
1. METAL HOOD MATERIAL: Znic alloy
1 S 2. PART NUMBER CODE:
DS1047-01 — 25 X {
y T— #4.00 Focking type
[
> I | 1: Mix packing
| I— [~ D | 2: Separation packing
. — | é = Caover Material
A L = _ M: Metal{Znic alloy}
— #5.00 |

Positions
251 25pin

47.04 |
54.07
70,440
79,40
BOM LIST
ITEM | PART NAME Qty | NOTES
1 |scREW 3 (M3
2 |UP METAL HODD 1 |Znic allay
3 |LONG BOLT 2 |UNC 4-40 GENERAL TOLERANCE| ANGLE TOLERANCE [PROJECTION | @ €1 [TTLE]  p_suB 25pin Metal Cover
4 [DOWN METAL HOCD| 1 [Znic allay v £0.0 ‘g5 UNITS p 90" type
5 ISR 4 X +0.38 X £F SHEET SIZE Ad SERIES | DS1047—01 SERIES
6 [NUT 3 (M3 XX £0.25 XX £
SRAWING TYPE [COSTONER All [(ONnnNnectors
SCALE 1:1 |SHEET [ 1 OF 1 www.all tors.eu | infoDall tors.eu
DRAWING NO C-DS51047-01 _25xx_A Tel. +49 (0)711 / 358 110 20 | Fax +49 (0)711 ! 358 110 25
| 2 | 3 | 4 [ 5 5 | 7 | 3




l 6

7

l 8

£3.50

70.07

44.00
32.90

16.00

DESCRIPTION

DRAWN

CHECKED APPROVED

NEW RELEASE

YCH 03/31/11°

Ly

NOTE=:

1. METAL HOOD MATERIAL: Znic alloy
2. PART NUMBER CODE:
DS1047-01 — 37 X X

T—F’Gcking type
1: Mix packing
2: Separation packing

Caver Material
M: Metal{Znic alley)

Fositions
A7 37pin

85,40
a5.4
=)
BOM LIST
ITEM | PART MNAME Oty | NOTES
1 |SCREW £ M3
2 |UP METAL HOOD 1 |Znic alloy
3 |LONG BOLT Z |UNC 4—40
4 |DOWN METAL HOOD| 1 |Zric alloy GENERAL TOLERANCE| ANGLE TOLERANCE |PROJECTION | @€ [TITLE | D-SUB 37pin Matal Cover
; aET 1 — X +0.60 X 45 UNITS mm 80" type
X 40,38 X 5 SHEET SIZE Ad SERIES [ DS1047-01 SERIES
XX +0.25 XX 2
SRAVING TYPE COSTONER All [(ONnnNnectors
SCALE 1:1 |SHEET [ 1 OF 1 www.all tors.eu | infoDall tors.eu
DRAWING NO C—-DS51047-01=37%X—4A Tel. +49 (0)711 / 358 110 20 | Fax +49 (0)711 ! 358 110 25
| 5 | 3 4 [ 5 B | 7 ' 8






